SHIS — 4
(UNIT - 4)
Q.4(a) TedHI § HBr & AT 1 fehar—fafr F@smsy | [3]
Explain the mechanism of addition of HBr in alkene.
(b) Voot Beltgs & faeiu= arfaforar & fhar—fafd & fadgemr g
[3]
Describe the mechanism of elimination reaction of alkyl halide.
a1
(Or)

(a) WHHIDE BT = a1 87 g9a fohanfafsy s SR | [3]
What is Markownikoff's rule? Explain it's mechanism.
(b) Srew — VeeR ST @ 87 e fhar — R ey [3]
What is Diel's - Alder reaction? Write it's mechanism.
SPHI§ — 5

(UNIT - 5)

Q.5(a) &bl BT A IaTevoT Afed HHASISY | [3]
Explain Huckel's rule with examples.
(b) o5 # geracifbford ufRemue &1 W BN | [3]
Explain the electrophilic substitution in benzene.
g1
(Or)

(a) Wied — Hide IffWfhar a1 g2 ga@! fhar — fafdr &1 Jwsmey ([3]
What is Friedel - Craft reaction? Explain it's mechanism.

(b) SN & ASLIHROT Bl fohar — fafer &1 avie ST | [3]

Explain the mechanism of nitration of benzene.
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Note:- Attempt all the five questions. One question from each Unit
is compulsory.

THIE — 1
(UNIT - 1)
Q.1(a) selagiibfere 7 fFeraifbford  if@He &1 IeERo  dfed
AV | [2]
Explain the electrophilic and nucleophilic reagent with examples.

(b) UfYels, Afdrel U &) i H it &R B, FHsIsy | [2]

Aniline is weaker base than methyl amine. Explain.

(c) PEDHCIA DI HAEAT TAT WA DI AHSIY | [3]
Explain the structure and stability of carbocation.
g7
(Or)

(a) URMEG U9 T 3Fl Ud 8RS &I Yol TR 9T Y9G IsSdl 27
TJETEVY TR FHSY | [4]

What is the effect of inductive effect on the strength of acids and
bases? Explain with examples.

(b) HIT D FIT B° b WA BT HH IAT WeT oy | [3]

What is free radical? Explain it's order of stability and structure.



SHIE — 2

(UNIT - 2)

Q.2 (a)TIeR® 3t # fohee el Hree 57 [1]

How many chiral carbons are present in Tartaric acid?

YIRS THGIAdT B oifded 3 & ISR §RT 9Hsms | [3]
Explain the optical isomerism by taking example of lactic acid.
ATUel @y (D-L TehRoT Ugfel) i Sarexvl Afed wasmgy | [3]

Explain relative configuration (D-L system of nomenclature) with
example.

ar
(Or)

gfafdg w9 &7 aR9TYa S | 1]
Define Enantiomers.

FrforRed or fewforT forey:

() RN — o9 gHEgadT (SAIAd FHedad)

[3+3=6]

(i) AHHRT DT E — Z ggfa
Write notes on the following:
(1) Cis - trans isomerism (Geometrical isomerism)

(i1) E - Z system of nomenclature

§HIE — 3
(UNIT - 3)
Q.3 (a)TA BT Wi FHYY DT BIAT & — [1]
(i) TRIT
(i) AraRa

(c)

(2)

(b)

The stable conformation of ethane is -
(1) Eclipsed

(i1) Staggered

AT adT HT Gl WU, 71d w9 ¥ SA7eT R g1 2, ®7 [3]

Chair conformation of cyclohexane is more stable than boat
conformation, why?

IR & a9 RIgid Ud s9PT Bl Bl FHSsU | [3]
Explain Baeyer's strain theory and it's defects.

ar

(Or)
R T 57 AT SV G DI FEIAT H n-Ked Bl faf=
/I AREARN BT TSV IR A8V fd HF—a1T AU SITaT
Tl 7 3R w7 [4]

What is conformation? Show different conformations of n-butane
with the help of Newman projection formula and explain which
conformation is more stable and why?

TR — AR & a9 Xf2d Il &1 RIgia &l aHssy | [3]

Explain Sachse - Mohr's theory of strainless ring.



